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001. ystíkk yLku {nçkr÷Ãkwh{T Lkk{u òýeíkk çku yiríknkrMkf MÚkkLkku{kt fE çkkçkíkku Mk{kLk Au ?

1. çktLku yufs Mk{Þfk¤{kt rLkŠ{ík ÚkÞu÷ níkk.

2. çktLku yufs ÄkŠ{f Mkt«ËkÞ MkkÚku MktçktrÄík níkk.

3. çktLku{kt rþ÷kf]ík M{khfku Au.

Lke[uLkk fkuzLkku WÃkÞkuøk fhe Mkk[ku sðkçk ÃkMktË fhku.

(A) {kºk 1, 2 (B) {kºk 3

(C) {kºk 1, 3 (D) yk{ktÚke yuf Ãký Lknª

002. ¼khíkLkk f÷k yLku ÃkwhkíkkÂíðf EríknkMkLkk MktË¼o{kt Lke[uLkk{ktÚke fÞk yufLkwt Mkki«Úk{ rLk{koý fhkÞwt níkwt ?

(A) ¼wðLkuïh ÂMÚkík ®÷økhks {trËh (B) ½ku÷e ÂMÚkík ¾zf{ktÚke çkLkkðkÞu÷ nkÚke

(C) {nkçkr÷Ãkwh{T ÂMÚkík ¾zfLkwt M{khf (D) WËÞrøkrh ÂMÚkík ðhkn{qŠík

003. fÞk rðþk¤ {trËhLke þYykíkLke yr¼fÕÃkLkk yLku rLk{koý MkqÞoð{oLk çkeò Lkk þkMkLkfk¤{kt ÚkE ?

(A) ©e {rhÞB{Lk {trËh (B) çkxw økwVk {trËh

(C) ytøkfkuhðkx {trËh (D) fk{kÏÞk {trËh

004. ®MkÄw ½kxe MkÇÞíkk{kt Lke[uLkk Ãkife fÞwt ½huýwt ÃkwY»kku Lkrn, Ãkhtíkw {kºk {rn÷kyku îkhk Ãknuhðk{kt ykðíkw níkwt ?

(A) nkh (B) ðªxe

(C) çkkswçktÄ (D) fwtz¤ (çkwèe)

005. yk ÷kuf r[ºkf÷k{kt fuð¤ {rn÷k f÷kfkhkuLkku yufkrÄfkh nkuÞ Au, yLku íku{kt «ríkfkí{f r[ºkku òuðk {¤u Au. íku{kt r[ºkku
rîykÞk{e (2D) «¼kð{kt Au íku{s ytíkhk÷ku (gap) Lku r[ºkku yLku ÃkuxLko ðzu ¼hðk{kt ykðu Au.

(A) ðkh÷e r[ºkf¤k (B) {ÄwçkLke r[ºkf¤k

(C) {tsw÷k r[ºkf¤k (D) Úktøkzk r[ºkf¤k

006. ‘ÞwLkuMfku ðÕzo nurhxuÍ MkkEx’ ÃkMktËøke {kxu Lke[uLkk Ãkife fÞk {kÃkËtz Au ?

(A) {kLkð MksoLkkí{f çkwrØ «rík¼kLke ©ucf]rík

(B) Wíf]ü WËknhý MðYÃk E{khíkLkku «fkh, MÚkkÃkíÞf¤k yÚkðk xufLkku÷kuSLkk yuftËhu Ãkrhýk{Lkwt YÃk yÚkðk «kf]ríkf
á~Þ (s{eLk WÃkhLkwt)

(C) çktLku (A) yLku (B)

(D) A Ãký Lkrn B Ãký Lkrn

007. økwhshkík{kt Lke[uLkk Ãkife fÞk rMk¬kyku {¤e ykÔÞk níkk ?

1. Ãkt[ r[Lneík rMk¬k (Punch Marked Coin)

2. MkkMkkrLkÞLk rMk¬k (Sassanian Coin)

3. ¼khíkeÞ ÞwLkkLke rMk¬k (Indo-Greek Coin)

4. ûkºkÃk rMk¬k (Kshatrap Coin)

(A) Võík 1 yLku 2 (B) Võík 2 yLku 3

(C) Võík 3 yLku 4 (D) 1, 2, 3 yLku 4
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008. LktË÷k÷ çkkuÍ îkhk Ëkuhðk{kt ykðu÷ ¼ªík r[ºkku/r¼rík r[ºkku õÞkt òuðk {¤u Au ?

(A) feŠík {trËh – ðzkuËhk (B) ÷û{e rð÷kMk Ãku÷uMk – ðzkuËhk

(C) feŠík {trËh – ÃkkuhçktËh (D) WÃkhLkk Ãkife fkuE Lk®n

009. ‘{kíkkLke Ãku[uze’Lkk MktË¼o{kt Lke[uLkk Ãkife fÞwt/fÞk rðÄkLk Mkk[wt/Mkk[k Au ?

1. íku ËuðeLkwt {trËh çkLkkðíke fÃkzk WÃkhLke f÷k Au.

2. økwshkíkLkk ËuðeÃkqsf òríkLkk ÷kufkuyu «Úk{ ð¾ík íkiÞh fhe.

3. yk [kíkwÞo Mk{kÄkLk {kíkkLke Ãku[uze, Ãkrðºk f¤k íkuLkw {q¤ nkuðkLkw {kLkðk{kt ykðu Au.

(A) Võík 1 yLku 3 (B) 1, 2 yLku 3

(C) Võík 2 yLku 3 (D) Võík 1 yLku 2

010. Lke[uLkk økwshkíke MkkrníÞfkhku Ãkife, økwshkík{ktÚke fkuLku «Úk{ ¿kkLkÃkeX yuðkpzo yÃkkÞu÷ Au ?

(A) {nuLÿ Ãktzâk (B) Mkwhuþ Ë÷k÷

(C) W{kþtfh òuþe (D) Ë÷Ãkíkhk{

011. Lke[uLkk Ãkife fÞku íkktçkw Ã÷ux rþ÷k÷u¾ Au ?

(A) {iºkfkMkLkku ðÕ÷¼e rþ÷k÷u¾ (B) YÿËk{LkLkku swLkkøkZ rþ÷k÷u¾

(C) yþkufLkku swLkkøkZ rþ÷k÷u¾ (D) WLkk rþ÷k÷u¾

012. Lke[uLkk Ãkife fE òuze ¾kuxe heíku òuzkÞu÷ Au ?

(A) hkÞ[tË rËÃk[tË ÷kÞçkúuhe – ¼Y[ (B) Mxwyxo Ãkç÷ef ÷kÞçkúuhe – Mkqhík

(C) ÷uLøk ÷kÞçkúuhe – hksfkux (D) WÃkhLke ík{k{

013. Ëu÷ðkzkLkk «rMkØ siLk {trËhku ............ îkhk çkktÄðk{kt ykðu÷ níkk ?

(A) Ãkh{kh (B) [tËu÷k

(C) Mkku÷tfe (D) [kinký

014. «kr[Lk ¼khík{kt Lke[uLkk Ãkife fÞk rþûký fuLÿku níkk ?

1. íkûkrþ÷k

2. fkþe

3. fktr[

4. Ãkkx÷eÃkwºk

(A) Võík 1, 2 yLku 4 (B) Võík 1, 2 yLku 3

(C) Võík 2, 3 yLku 4 (D) 1, 2, 3 yLku 4
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015. ÞkËe I MkkÚku ÞkËe II òuzku yLku Lke[uLkk fkuzLkku WÃkÞkuøk fhe Mkk[ku sðkçk ÃkMktË fhku.

 ÞkËe I                       ÞkËe II

1. fwtðh ®Mkn a. øðkr÷Þh ¾kíku rçkúxeþ yk{eo Mkk{u ÷zíkk {]íÞw

2. LkkLkk Mkknuçk b. Eòyku ÚkðkLkku fkhýu íkuLkk/íkuýeLkk ÃkqðoòuLkk ½h ¾kíku {]íÞw

3. çkfík ¾kLk c. LkuÃkk÷ íkhV LkkMkeøkÞk

4. hkýe ÷û{eçkkE d. yðÄ ¾kíku rçkúxeþku Mkk{u ÷zíkk {]íÞw

(A) 1 - a, 2 - b, 3 - c, 4 - d (B) 1 - d, 2 - c, 3 - b, 4 - a

(C) 1 - c, 2 - a, 3 - d, 4 - b (D) 1 - b, 2 - c, 3 - d, 4 - a

016. Lke[uLkk Ãkife fE òuze ¾kuxe heíku òuzkÞu÷ Au ?

        þkMkf hksðtþ

(A) rçkBçkeMkkh - {økÄ

(B) ®çkËwMkkh - {kiÞo

(C) Ëuð¼qrík - þwtøkk

(D) ðMkwr{ºk - fkLkðk

017. hksfkux Mxux Lkk «Úk{ MkwÄkhf (Reformer) fkuý níkk ?

(A) çkkðShks (B) rð¼kuS òuzuò

(C) ÷k¾kS hks (D) Ä{uoLÿ®Mkn

018. {nt{Ë økÍLkeyu ßÞkhu Mkku{LkkÚk WÃkh [ZkE fhe íÞkhu Lke[uLkk Ãkife økwshkík{kt [ki÷wõÞ ðtþLkk þkMkfku Ãkife fkuý níkk ?

(A) sÞ®Mknk rMkØhks (B) ¼e{Ëuð

(C) fw{khÃkk¤ (D) Mkw¾Ãkk÷

019. Mkku÷tfe þkMkLk (ðneðx){kt ‘ðuhkfw÷’ (Verakul) ............ Lkk {tºke níkk.

(A) huðLÞw (B) LÞkÞ

(C) çktËhku (D) rðËuþe çkkçkíkku

020. økwshkík WÃkh þkMkLk fhLkkh Lke[uLkk Ãkife hksðtþku (Dynasties) Lku fk÷ ¢{kLkwMkkh økkuXðku.

1. þf      2. ÞkËð      3. {iºkf      4. {kiÞo

(A) 4, 1, 3, 2 (B) 2, 4, 1, 3
(C) 3, 2, 1, 4 (D) 1, 4, 2, 3

021. {nkøkwshkík sLkíkk Ãkrh»kËLke MÚkkÃkLkk fÞk ð»ko{kt ÚkÞu÷ níke ?

(A) 1950 (B) 1953

(C) 1956 (D) WÃkhLkk Ãkife yuf Ãký Lk®n

022. økwshkík ðLkkoõÞw÷h MkkuMkkÞxeLke MÚkkÃkLkk ............ îkhk ÚkÞu÷ níke.

(A) yu. fu. VkuçkoMk (B) Lk{oË

(C) Ë÷Ãkíkhk{ (D) WÃkhLkk Ãkife fkuE Ãký Lk®n
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023. ¼khík{kt ÃkkuxwoøkeÍ Mk¥kkLke ¼rð»ÞLke {n¥kkLkku ÃkkÞku Lke[uLkk Ãkife fkuýu LkkÏÞku ?

(A) ðkMfku-Ë. økk{k (B) ykÕVkLÍku y÷çkwffo

(C) {kŠxLk ykÕVkLÍku (D) Ë yÂÕ{zk

024. Mðhks ÃkûkLkk «Úk{ Mku¢uxhe fkuý níkk ?

(A) {kuíke÷k÷ LknuY (B) Mke. ykh. ËkMk

(C) ðe. su. Ãkxu÷ (D) yuLk. Mke. fu÷fh

025. Lke[uLkk rðÄkLkku Ãkife fÞw rðÄkLk ¾kuxwt Au ?

(A) ®MkÄw LkËe ríkçkuxLkk Wå[ «ËuþÚke WËT¼ðu Au.

(B) Íu÷{ LkËe fk~{eh ¾eý{kt WËT¼ðu Au.

(C) hkðe LkËe rn{k[÷ «ËuþLke fw÷w xfuMíkheykuÚke Lkef¤u Au.

(D) Mkík÷s LkËe Ãkeh Ãktò÷ Úke WËT¼ðu Au.

026. Lke[uLkk hkßÞku{ktÚke ‘ffoð]¥k’ fÞk hkßÞLku MÃkþo Úkíkku LkÚke ?

(A) rºkÃkwhk (B) hksMÚkkLk

(C) {rýÃkwh (D) økwshkík

027. 2011 Lke ðMíke økýºke {wsçk økwshkík{kt ðMíkeLke øke[íkk{kt Lke[uLkk Ãkife, fÞwt Mkk[k Wíkhíkk ¢{{kt hsw fhu Au ?

(A) Mkqhík, ykýtË, y{ËkðkË, økktÄeLkøkh rsÕ÷kyku (B) Mkqhík, y{ËkðkË, ykýtË, økktÄeLkøkh rsÕ÷kyku

(C) Mkqhík, økktÄeLkøkh, y{ËkðkË, ykýtË rsÕ÷kyku (D) y{ËkðkË, Mkqhík, økktÄeLkøkh, ykýtË rsÕ÷kyku

028. økwshkík{kt Lke[uLkk Ãkife fÞwt yuf ËrhÞkE çktËh hMkkÞýku yLku ÃkuxÙkufu{efÕMkLkk WíÃkkËLkkuLkk ðnLk {kxu MkkiÚke {kuxk çktËh
íkhefu rðfMkkðkÞu÷ Au ?

(A) ftz÷k (B) yku¾k

(C) nÍehk (D) Ënus

029. ¼khíkLkku fÞku ËrhÞk rfLkkhku/fktXku W¥kh-Ãkqðo [ku{kMkkÚke ðhMkkË {u¤ðu Au ?

(A) fkUfý ËrhÞk rfLkkhku (B) {÷çkkh ËrhÞk rfLkkhku

(C) fkuhku{tz÷ ËrhÞk rfLkkhku (D) økwshkík ËrhÞk rfLkkhku

030. 2011Lke ðMíke økýºke «{kýu yMkh fkhf Mkkûkhíkk Ëh ............ Au.

(A) 62.5% (B) 50.5%
(C) 74% (D) 49%

031. Lke[uLke LkËeyku Ãkife økwshkík{kt ÷ktçkk{kt ÷ktçke LkËe fE Au ?

(A) Ë{ý øktøkk (B) fuhe

(C) YÃkuý (D) Ãkqýko

032. ykÃkýk Ëuþ{kt fwËhíke MkwÃík þÂõíkykuLku fk{{kt ÷E ¼híke Wòo {u¤ððk {kxu Lke[uLkk Ãkife fÞk Mkt¼ðLkeÞ Au ?

(A) {LLkkhLkku y¾kík/WÃkMkkøkh (B) fuh÷k ËrhÞk rfLkkhku

(C) Ãkw÷efx Mkhkuðh (D) ¾t¼kíkLkku y¾kík
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033. Lke[uLkk økúnku Ãkife fÞku økún MkqÞoLkwt Ãkrh¼ú{ý Ãkrù{Úke Ãkqðo fhíkku LkÚke ?

(A) çkwÄ (Mercury) (B) {tøk¤ (Mars)

(C) økwY (Jupiter) (D) þw¢ (Venus)

034. Lke[uLkk Ãkife fÞw hkßÞ {ne LkËeLkk rððkËLkku ¼køk LkÚke ?

(A) økwshkík (B) hksMÚkkLk

(C) {nkhk»xÙ (D) {æÞ«Ëuþ

035. Lke[uLkk økúnku Ãkife fÞk økúnLku MkkiÚke ðÄw MktÏÞk{kt fwËhíke WÃkøkúnku yÚkðk [tÿ Au.

(A) {tøk¤ (Mars) (B) þrLk (Saturn)

(C) økwY (Jupiter) (D) þw¢ (Venus)

036. Lke[uLkk ¼khíkLkk hkßÞku Ãkife fÞw hkßÞ yk ËuþLkwt MkkiÚke swLkw ¾zf h[Lkk çktÄkhý (rock formation) Ähkðu Au ?

(A) fýkoxf (B) ykMkk{

(C) rçknkh (D) W¥kh«Ëuþ

037. {wÿk çkuLf MktçktrÄík Lke[uLkk Ãkife fÞw rðÄkLk ¾kuxwt Au ?

(A) {wÿk {kE¢ku yuf{kuLkk rðfkMk {kxu VkELkkÂLMktøk yusLMke Au.

(B) Yk. 3000 fhkuz, ¢uzex økuhtxe ¼tzku¤ MkkÚkuLke çkuLf

(C) rÄhký yøkúe{íkk yuMk. Mke./yuMk. xe. Lku ykÃkðk{kt ykðþu.

(D) WÃkhLkk Ãkife yuf Ãký Lk®n

038. ðuÃkkhe çkuLfku (Commercial Bank)Lkk ¾hkçk ÷kuLk (Bad loans)Lkk «&™kuLku n÷ fhðk, ¼khík Mkhfkh yLku heÍðo
çkuLf ykpV EÂLzÞk rºkÃkûkeÞ ÔÞwn h[Lkk (Strategy) Lkw ykÞkusLk fhe hne Au.

(A) çkuLf çkkÞ çkuLf õ÷eLk yÃk

(B) Lkçk¤ku Ëu¾kð fhíke çkuLfkuLku çktÄ fhðe

(C) r{Õfík yË÷ çkË÷ (rðrLkÞ{) (Assets Swaps)

(D) çkuz çkuLfLke MÚkkÃkLkk

039. ¼khíkeÞ yÚkoíktºkLkk Lke[u Ëþkoðu÷ Mkuðk ûkuºkku Ãkife fÞk rLkfkMk Mkuðk ûkuºkLke Mkuðkyku, Ÿ[e xfkðkhe Lkku rnMMkku Ähkðu Au.

(A) fkuBÃÞwxh nkzoðuh (B) fkÞËk rð»kÞf Mk÷kn (Legal Consultancy)

(C) fkuBÃÞwxh Mkku^xðuh (D) WÃkhLkk Ãkife yuf Ãký Lk®n.

040. Lke[uLkk Ãkife fÞk fkhýku/Ãkrhçk¤ku ËuþLkk çku÷uLMk ykuV Ãku{uLx (÷uý ËuýLke íkw÷k)Lke økýºke fhðk {kxu æÞkLku ÷uðkÞ Au ?

(A) [k÷w ¾kíkk

(B) rðËuþe nwrzÞk{ý yLkk{ík{kt VuhVkh

(C) ¼q÷ [qf yLku çkkËçkkfe/¼q÷ku yLku [wfðýeyku çkkfkík (Errors and omissions)

(D) WÃkhLkk Ãkife ík{k{
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041. [÷ýÞwØ (fhLMke ðkph) yu yuðe ÃkrhÂMÚkrík Mkq[ðu Au fu su{kt Ëuþku ...........{kt Mktíkwü ÚkkÞ Au.

(A) yu{uÍªøk zku÷Mko (zku÷h s{k fhðk/Mkt[Þ fhðku) (Amassing dollars)

(B) MkkuLkkLkku Mktøkún

(C) íku{Lke MktçktrÄík [÷ý {qÕÞ{kt ½xkzku

(D) íku{Lkk [÷ýLke rLk:þwÕf YÃkktíkhý {kLÞ fhðwt (Allowing free convertibility of their currencies)

042. fÞk «fkhLke çkuhkusøkkhe Ãkqýo hkusøkkheLke ÂMÚkrík{kt WËT¼ðe þfu Au ?

(A) {k¤¾køkík hkusøkkhe (Structural) (B) [r¢Þøkík çkuhkusøkkhe (Cyclical)

(C) fkÞkoí{f çkuhkusøkkhe (Functional) (D) «åALLk (AqÃke fu økŠ¼ík) çkuhkusøkkhe (Disguised)

043. økúkuMk LkuþLk÷ «kuzõx (GNP) yLku Lkux LkuþLk÷ «kuzõx (NNP) ðå[uLkku íkVkðík ............ çkhkçkh Au.

(A) xfkW {k÷ WÃkh økúknf ¾[o (Consumer expenditue on durable goods)

(B) «íÞûk fhðuhk ykðf (Direct tax revenue)

(C) Ãkhkuûk fhðuhk (Indiret tax revenue)

(D) {qze ½Mkkhku (Capital depreciation)

044. økwshkíkLkk MkLku 2018-19Lkk ytËksÃkºk (Budget){kt ............ Yk. Lke {nuMkq÷e Ãkqhktík (Revenue surplus) íkhefu
ytËksðk{kt ykðu÷ Au.

(A) ytËksu 5998 fhkuz (B) 7000 fhkuzÚke ðÄw

(C) ykðfLkku ðÄkhku LkÚke (D) {kºk 5 (Ãkkt[) fhkuz

045. Lke[uLkk Ãkife fÞk ÷ûkýku “ÃkhtÃkhkøkík f]r»k rðfkMk ÞkusLkk” ytøku Mkk[k LkÚke ?

(A) íku sirðf (ykøkuorLkf) ¾uíkeLku W¥kusLk ykÃkðk «ÞíLk fhu Au.

(B) {wÏÞíðu rLkfkMk÷ûke ¾uzqíkLkk øk]ÃkLku MknkÞ ykÃkðk{kt ykðþu.

(C) sirðf (Organic) ÃkkfkuLkwt WíÃkkËLk {wÏÞíðu rLkfkMkLkk nuíkw {kxu fhðk{kt ykðþu.

(D) sirðf «{kýeíkíkk (Organic certification) {kxu Úkíkku ¾[o Mkhfkh îkhk ¼kuøkððk{kt ykðþu.

046. yMktøkXeík fk{Ëkhku {kxuLke Mðkð÷tçkLk ÃkuLþLk ÞkusLkk ............ MkkÚku {so fhe Ëuðk{kt ykðu÷ Au.

(A) «ÄkLk{tºke SðLk ßÞkurík rð{k ÞkusLkk (B) yx÷ ÃkuLþLk ÞkusLkk

(C) «ÄkLk{tºke Wßsð÷k ÞkusLkk (D) LkuþLk÷ Vu{e÷e çkuLkeVex ÞkusLkk

047. {nk÷LkkurçkMk {kuzu÷ (Mahalnobis model) ............Lke MÚkkÃkLkk WÃkh ¼kh {qfu Au.

(A) økúknf÷ûke {k÷ Wãkuøkku (Consumer goods industries)

(B) rLkfkMk÷ûke Wãkuøkku

(C) ¾uíke ykÄkrhík Wãkuøkku

(D) {qze yLku ÃkkÞkLkk {k÷ Wãkuøkku (Capital and basic goods industries)

048. {kLkð rðfkMk Mkq[fktf (Index){kt ykhkuøÞ Ãkrh{ký ............ îkhk Lk¬e fhðk{kt ykðu Au.

(A) çkk¤ {]íÞw Ëh (infant mortality rate) (B) SðLk Äkhýk Ëh (life expectancy rate)

(C) {]íÞw Ëh (D) WÃkhLkk Ãkife yuf Ãký Lk®n
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049. ¼khík{kt zeÍex÷ ÔÞðnkhkuLku ............ îkhk «kuíMkknLk/W¥kusLk ykÃkðk{kt ykðu Au.

(A) UPI ykÄkrhík BHIM (¼e{) yuÃkLkwt ÷kuL[ªøk

(B) ¼køÞþk¤e økúknf ÞkusLkk yLku rËøke ÄLk ÔÞkÃkkh ÞkusLkkLkwt yLkkðhý

(C) IRCTC {khVíkLke E-xefex {kxu MkŠðMk [ksoLke LkkçkqËe

(D) WÃkhLkk Ãkife ík{k{

050. ¼khík Mkhfkhu hrþÞk MkkÚku Yk. 200 fhkuzLke ze÷ ‘MxÙ{ yuxfk’ (Strum Ataka) {u¤ððkLkk MkkuËk Ãkh nMíkkûkh fÞko Au
íku ............ Au.

(A) yuLxe xuLf r{MkkEÕMk (B) Mkçk {þeLkøkLMk

(C) nu÷efkuÃxMko (D) r£økuxMkT

051. íkksuíkh{kt Ãkqýo ÚkÞu÷ rîÃkûkeÞ yuh VkuMko yufMkhMkkEÍ økYz-VI, ¼khík yLku ............ Ëuþ ðå[u ÞkuòÞu÷ níke.

(A) £kLMk (B) #ø÷uLz

(C) ELzkuLkurþÞk (D) Þw.yuMk.yu.

052. ELzeÞLk fkWÂLMk÷ ykuV {uzef÷ heMk[o yu ‘çkeLk [uÃke hkuøkku’ (Non communicable Diseases) WÃkh ynuðk÷
«rMkØ fhu÷ Au yk MktË¼uo Lke[uLkk Ãkife fÞk/fÞwt rðÄkLk Mkk[wt/Mkk[kt LkÚke ?

1. ynuðk÷Lkwt rþ»kof “¼khík : hk»xÙLkk hkßÞkuLkwt ykhkuøÞ”

2. çkeLk [uÃke hkuøkkuLkk ÷eÄu ¼khík{kt fw÷ {]íÞw Ëh 2016{kt 61.8% níkku.

3. çkeLk [uÃke hkuøkkuLkk fux÷kf WËknhýku Au nkÞÃkhxuLþLk, ûkÞ yLku fuLMkh

(A) Võík 1 (B) Võík 1 yLku 2

(C) Võík 2 yLku 3 (D) WÃkhLkk Ãkife fkuE Lk®n

053. ELxhLkuþLk÷ fkuxo ykuV sMxeMk (ICJ) ¾kíku ¼khík íkhVÚke ©e fw÷¼q»ký òËðLkk fuMk{kt Lke[uLkk Ãkife fÞk ðfe÷u
Ë÷e÷ku fhe ?

(A) Ãkku÷e yuMk. Lkhe{kLk (B) nrhþ MkkÕðu

(C) {wfw÷ hkuníkøke (D) hkurnLíkLk Lkhe{kLk

054. ‘yuf hk»xÙ yuf huþLk fkzo’ ÞkusLkk Mk{økú Ëuþ{kt ............Úke WÃk÷çÄ Úkþu.

(A) ykuõxkuçkh 2019 (B) zeMkuBçkh 2019

(C) òLÞwykhe 2020 (D) sw÷kE 2020

055. ¼khíkLkk ðzk«ÄkLk ©eyu íkksuíkh{kt S-20 (G-20) Mkr{x{kt ¼køk ÷eÄku. yk Mkr{x ............ ¾kíku ÞkuòÞu÷ níke.

(A) ykuMkkfk, òÃkkLk (B) xkuhuLxku, fuLkuzk

(C) BÞwrLk[, s{oLke (D) rhÞkÄ, MkkWËe yhurçkÞk

056. ¼khík Mkhfkhu ykhkuøÞ Mkuðkyku ¾[o, S.ze.Ãke. (GDP)Lkk 2.5% sux÷ku ðÄkhðkLkku ÷ûÞktf ............ MkwÄe hk¾u÷ Au.
(A) 2020 (B) 2022
(C) 2025 (D) 2027

057. “rðrþü «fkhLkwt økUzk Mkthûký çk¤” ............ hk»xÙeÞ WãkLk (LkuþLk÷ Ãkkfo) ¾kíku MÚkÃkkÞu÷ níkwt.

(A) fkÍehtøkk (B) rs{ fkuçkuox

(C) hkòS (D) WÃkhLkk ík{k{
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058. ELzeÞk (¼khík) Ãkkt[ r{r÷ÞLk zku÷hLkwt ÞkuøkËkLk Þw yuLk Lku ............ Lke þhýkÚkeo yusLMkeLku ykÃkðkLkwt ð[Lk ykÃku Au.

(A) rMkheÞk (B) BÞkLk{kh

(C) S çkwíke (Sçkkiºke) (D) Ãku÷uMxkELk

059. Äe ÞwrLkf ykEzuLxeVefuþLk ykuÚkkuhexe ykuV ELzeÞk (UIDIA) yu íkuLkw «Úk{ ykÄkh Mkuðk fuLÿ (ASKS) ..........{kt
ÃkkÞ÷kux «kusuõx íkhefu fkÞohík fhu÷ Au.

(A) {wtçkE yLku çkUøk÷kuh (B) rËÕne yLku rðsÞðkzk

(C) y{ËkðkË yLku fkur[Lk (D) WÃkhkuõík Ãkife fkuE Lknª

060. ¼khíkeÞ huÕðu îkhk ¼khík{kt MkkiÚke ÷ktçke rðãwríkf]ík Mkwhtøk (Electrified tunnel)Lkwt rLk{koý fhðk{kt ykÔÞwt Au. yk
xLk÷ ............ huÕðu ÍkuLk nuX¤ rLk{koý ÚkÞu÷ Au.

(A) MkkWÚk MkuLxÙ÷ huÕðu (B) MkÄLko (ËrûkýLkwt)

(C) LkkuÄoLk (W¥khLkwt) (D) WÃkhLkk Ãkife fkuE Lk®n

061. íkksuíkh{kt Lkerík ykÞkuøku yuøkúefÕ[h÷ {kfuoxªøk yuLz Vk{oh £uLz÷e heVku{oMk ELzuûk 2019 ÷kuL[ fÞkuo, su{k økwshkík
............ {kt ¢{u Au.

(A) Ãknu÷k (B) ºkeò

(C) çkeò (D) [kuÚkk

062. ‘VuþLkkuðk’ ¼khíkLkk «Úk{ rzÍkELk rðfkMk fuLÿLke þYykík ............ þnuh{kt fhðk{kt ykðe Au.

(A) ðkhtøk÷, íku÷tøkkýk (B) Mkqhík, økwshkík

(C) ykMkLkMkku÷, Ãkrù{ çktøkk¤ (D) yu{uXe, W¥kh«Ëuþ

063. ‘M«kExMkT’ MktË¼o{kt Lke[uLkk Ãkife fÞw/fÞk rðÄkLk Mkk[wt/Mkk[k Au ?

(A) yu rðïLkk MkkiÚke LkkLkk yktíkhhk»xÙeÞ yðfkþÞkLkLkk «kuxkuxkEÃk Au ykuAe Ãk]ÚðeLke ¼ú{ýfûkk «kÃík fhLkkh yufs
MkŠfx çkkuzo Ãkh çkLku÷.

(B) EMkhku (ISRO) îkhk yk ÷kpL[ fhkÞu÷ Au.

(C) (A) yLku (B) çktLku

(D) (A) Ãký Lk®n yLku (B) Ãký Lk®n

064. Lke[uLkk ½xfku Ãkife fÞwt yuf ykÃkr¥k ÔÞðMÚkkÃkLkLkku ¼køk LkÚke ?

(A) ÃkwLk:«kÂÃík (Recovery) (B) «ríkr¢Þk (Response)

(C) íkiÞkhe (Preparedness) (D) çkeòÚke y÷øk Ãkkzðw (Segregation)

065. ðuçk Ãkus yuzÙuMk Lkwt Lkk{ þwt Au ?

(A) rzhuõxhe (B) «kuxkufku÷

(C) Þwykhyu÷ (URL) (D) zku{uLk (Domain)
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066. †e ÃkwY»kLkk «òuíÃkkËLk (Sexual Reproduction) Ëhr{ÞkLk çku htøk Mkqºkku (¢ku{kuÍkuBMk) ðå[u WíÃkr¥k MktçktrÄík ÃkËkÚkkuoLkk
rðrLk{ÞLke yMkkÄkhý ½xLkkLku ............ fnu Au.

(A) ¢ku{kuMkku{÷ hefkuBçkeLkuþLk (Chromosomal recombination)

(B) ¢ku{kuMkku{÷ ¢kuMkykuðh (Chromosomal crossover)

(C) ¢ku{kuMkku{÷ xÙkLMk÷kufuþLk (Chromosomal translocation)

(D) ¢ku{kuMkku{÷ heyuhuLs{uLx (Chromosomal Rearrangement)

067. ¼khíkeÞ ði¿kkrLkf Mkh søkËeþ[tÿ çkkuÍ fÞk ûkuºk{kt íku{Lkk fkÞkuo {kxu ÏÞkíkLkk{ Au ?

(A) Úk{kuozkÞLku{ef «kuÃkxeoÍ ykuV yu÷e{uLxÙe ÃkkxeofÕMk (Thermodynamic properties of elemantry particles)

(B) yuxkpr{f yLku LÞwõ÷eÞh heMk[o

(C) hurzÞku yLku {kE¢kuðuð ykuÃxeõMk

(D) WÃkhLkk Ãkife fkuE Lk®n

068. Lke[uLkk Ãkife fÞk «fkhLkku fku÷Mkku fkçkoLk xfkðkhe Lkk MktË¼uo Ÿ[ku ¢{ktf Ähkðu Au ?

(A) yuLÚkúkMkkEx (Mk¾ík fku÷Mkku) (Anthracite) (B) rçkxâwr{LkMk (Bituminous)

(C) r÷økLkkEx (Lignite) (D) fku÷Mkku (Coal)

069. zurMkçkÕMk yu Lke[uLkk Ãkife þkLkw yuf{ Au ?

(A) yðks Ëçkký Míkh (Sound pressure level) (B) yðks Ëçkký (Sound pressure)

(C) ½kU½kx (Loudness) (D) ½kU½kx Lkwt Míkh (Loudness level)

070. Lke[uLkk hkuøkku Ãkife fÞku hkuøk ðkÞhMk (Mkwû{ stíkw) ðzu ÚkkÞ Au ?

(A) ykuhe (Measles) (B) økk÷ Ãk[kur¤Þk (Mumps)

(C) ftX{k¤ (Diptheria) (D) nzfðk (Rabies)

071. MkuLxÙ÷ MkkpÕx yuLz {heLk fu{efÕMk heMk[o ELMxexâwx, økwshkík{kt Lke[uLkk Ãkife fÞk MÚk¤u ykðu÷e Au ?

(A) økktÄeLkøkh (B) ¼kðLkøkh

(C) ò{Lkøkh (D) hksfkux

072. [tÿÞkLk-IILkk hkuðhLku þwt Lkk{ ykÃkðk{kt ykðu÷ Au ?

(A) rð¢{ (B) «ò (Praja)

(C) «¿kkLk (D) «rík¼k

073. ¼khíkLkk çktÄkhýLkk yLkwåAuË 19{kt «uMkLke MðíktºkíkkLkk MktË¼uo fÞw (rðÄkLk) Mkk[wt Au ?

(A) íku MÃküÃkýu sýkðu÷ LkÚke.

(B) íku{k ÷¾ðkLke yLku «fkþLk/«rMkrØ fhðkLke MðíktºkíkkLkku Mk{kðuþ ÚkkÞ Au.

(C) ðkýe yLku yr¼ÔÞÂõíkLke Mkk{kLÞ Mðíktºkíkk{ktÚke Lkef¤u Au.

(D) ík{k{ Mkk[k Au.
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074. Äe ÷kufÃkk÷ yuLz ÷kufkÞwõík yuõx 2013 {wsçk ÷kufÃkk÷Lkk yæÞûk yLku ÷kufÃkk÷Lkk MkÇÞkuLke rLk{ýqtf hk»xÙÃkrík îkhk,
ÃkMktËøke Mkr{ríkLke ¼÷k{ýku {u¤ÔÞk çkkË fhðk{kt ykðþu. Lke[uLkk Ãkife fÞk ÃkMktËøke Mkr{ríkLkk MkÇÞ íkhefu nþu Lk®n.

(A) ðzk«ÄkLk (B) {wÏÞ [wtxýe fr{&™h

(C) rðÃkûkLkk Lkuíkk (D) ¼khíkLkk {wÏÞ LÞkÞkÄeþ

075. Lke[uLkk Ãkife fE çkkçkík 9 (Lkð{kt) çktÄkhýeÞ MkwÄkhk MktçktrÄík Au.

(A) çkuYçkkze ÞwrLkÞLk rðMíkkh ÃkkrfMíkkLkLku nMíkktíkh fhkÞku.

(B) hkßÞkuLkwt ÃkwLkøkoXLk

(C) LkkUÄýe îkhk Lkkøkhefíkk {u¤ððe

(D) yk Ãkife yuf Ãký Lknª

076. ¼khík{kt Lkðk {tºkk÷Þ yÚkðk rð¼køkLke h[Lkk fhðkLkw fk{ ............ Lkwt Au.

(A) LÞkÞ íktºk (Judiciary) (B) ðneðxe (Executive)

(C) ÄkhkfeÞ (Legislative) (D) WÃkhLkk Ãkife ík{k{

077. Lke[uLkk Ãkife fÞk yuf ÃkkMku, fkuE «Ëuþ/rðMíkkhLku BÞwrLkrMkÃkk÷exe yÚkðk BÞwrLkrMkÃk÷ fkuÃkkuohuþLk yÚkðk Ãkt[kÞík íkhefu
h[ðkLke Mk¥kk Au ?

(A) fuLÿ Mkhfkh (B) rð¼køkeÞ fr{&™h

(C) rsÕ÷k f÷uõxh (D) hkßÞ Mkhfkh

078. fux÷k ð»koLkk Mk{Þøkk¤k{kt {rn÷k íkuýeLkk Ãkrík rðYØ Ënus Mkíkk{ýeLkku fuMk fhe þfu Au ?

(A) ºký (B) Ãkkt[

(C) Mkkík (D) Lkð

079. ¼khíkLke rðËuþLkerík{kt “Äe økwshkík zkprfxÙLk” Gujarat Doctrine ............ Lkku rLkËuo»k fhu Au.

(A) ÃkqðoLke Lkerík swyku (Look east policy)

(B) Ãkzkuþe Ëuþku MkkÚku Mkkhk MktçktÄku (Good neighbouring relation)

(C) Mkðoøkúkne/ÔÞkÃkf yýw fuLÿ MktçktÄe rLk:þ†efhý (Comprehensive nuclear disarmament)

(D) Ërûký yurþÞk{kt Mk¥kkLkwt Mktíkw÷Lk (Balance of power in South Asia)

080. Äe yku÷ ELzeÞk ßÞwzerþÞ÷ MkŠðMk (AIJS) íkksuíkh{kt Mk{k[kh{kt níke. Lke[uLkk ðkõÞku AIJSLkk MktË¼o{kt íkÃkkMkku.

1. AIJS Lkku rð[kh (idea) ¼khíkLkk çktÄkhýLkk 42{k MkwÄkhkÚke W{uhðk{kt ykÔÞku.

2. AIJS {kt rsÕ÷k LÞkÞkÄeþÚke Lke[÷e fûkkLkk nkuÆkLkku Mk{kðuþ Úkþu Lk®n

3. ¼khík{kt AIJS Lkk rLk{koý {kxu hkßÞkuLke Ãkrh»kËku îkhk ¾hzkÚke ÃkMkkh fhkÞu÷ nkuðe òuEyu, su{kt Ãkrh»kËLkk
2/3 fhíkkt ykuAk Lk nkuÞ íkux÷k MkÇÞkuyu nksh hne {ík ykÃke Mk{ÚkoLk fhu÷ nkuðwt òuEyu.

Wõík ykÃku÷ rðÄkLkku Ãkife fÞw rðÄkLk Mkk[wt Au ?

(A) Võík 1 yLku 3 (B) Võík 2 yLku 3

(C) Võík 1 yLku 2 (D) 1, 2 yLku 3

081. Mkw÷¼ ¼khík yr¼ÞkLk (MkwøkBÞ ¼khík yr¼ÞkLk) ............. Lku Mk{ŠÃkík Au.

(A) ÷½w{ríkyku (B) {rn÷kyku

(C) rðf÷ktøk ÔÞÂõíkyku (D) WÃkhLkk Ãkife fkuE Lk®n
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082. Lke[uLkk Ãkife fE {q¤¼qík Vhs, 86{kt çktÄkhýeÞ MkwÄkhkÚke yLkwåAuË 51A {kt Ëk¾÷ fhðk{kt ykðu÷ Au.

(A) ÔÞÂõíkøkík yLku Mkk{qrnf «ð]r¥kLkk ík{k{ ûkuºk{kt ©ucíkk nktMk÷ fhðkLkku «ÞíLk fhðku.

(B) {kíkk rÃkíkkyu íkuLkk çkk¤fkuLku rþûkýLke íkfku Ãkqhe Ãkkzðe.

(C) ði¿kkrLkf árüfkuý, {kLkðíkkðkË yLku ¿kkLkksoLk íkÚkk MkwÄkhýkLke ¼kðLkkLkku rðfkMk fhðkLke.

(D) ònuh r{ÕfíkLkw hûký fhðkLke.

083. ¼khík{kt Lke[uLkk Ãkife fÞku yuf, {rn÷kLkku çktÄkhrýÞ yrÄfkh Au ?

(A) ykSðefkLkk Ãkqhíkk MkkÄLkku {u¤ððkLkku yrÄfkh

(B) {rn÷k WÃkh Mkíke Úkíke ½xLkk yxfkððkLke yLku íkuLke {n¥kk yxfkððkLke.

(C) «Mkqrík ÷k¼kuLke òuøkðkE

(D) ÃkwY»k yLku †e fk{Ëkh - çktLkuLku Mk{kLk ðuíkLk [qfðýe.

084. ‘¼khík {kxu Mk{ðkÞe {k¤¾wt’ Lke[u ykÃku÷k fkÞËkyku Ãkife fÞk fkÞËkÚke «Úk{ ð¾ík Ëk¾÷ fhðk{kt ykÔÞwt ?

(A) [kxoh yuõx ykuV 1853 (B) økðLko{uLx ykuV ELzeÞk yuõx 1958

(C) økðLko{uLx ykuV ELzeÞk yuõx 1935 (D) [kxoh yuõx ykuV 1833

085. ¼khíkLkk çktÄkhýLkk, yLkwåAuË 343 ‘rnLËe’Lku Mkt½Lke ............ ¼k»kk íkhefu ònuh fhu Au.

(A) hk»xÙ ¼k»kk (B) Mkt½Lke yrÄf]ík ¼k»kk

(C) hks¼k»kk (D) Mkt½Lke ðneðxe ¼k»kk

086. 12 Ôkzu rÔkÇkkßGk nkuGk yuÔke 6 ytfLke MkkiÚke Bkkuxe MktÏGkk fE Au ?
(A) 999994 (B) 999996

(C) 999990 (D) ykBkktLkw yuf ÃkÛk Lknª

087. òu m : n  = 5 :7 yLku n : p = 9 : 11 nkuGk íkku m : n : p fuxÕkk Úk~ku ?

(A) 5 :16 :11 (B) 35 :49 :99

(C) 45 :63 :77 (D) ykBkktLkw yuf ÃkÛk Lknª

088. Mkíkík ykÔkíke ÃkúÚkBk 6 çkufe MktÏGkkykuLke Mkhuhk~k fuxÕke Úk~ku ?
(A) 7 (B) 8

(C) 9 (D) 9.5

089. òu log 2 = 0.30103 yLku log 3 = 0.47712 nkuGk íkku log 6 Lke ®fBkík fuxÕke Úk~ku ?

(A) 0.14633 (B) 0.77815

(C) 0.61243 (D) ykBkktLkw yuf ÃkÛk Lknª

090. 2x–1 + 2x+1 = 640 nkuGk íkku x Lkwt BkqÕGk fuxÕkwt Úk~ku ?
(A) 6 (B) 12

(C) 9 (D) ykBkktLkw yuf ÃkÛk Lknª.

091. P yu T Lke ÃkqÔko íkhV nkuGk, T yu J Lke W¥kh íkhV nkuGk, íkÚkk M yu J Lke ËrûkÛk íkhV nkuGk íkku M yu P Úke fE rË~kkBkkt Au ?

(A) W¥kh-ÃkqÔko (B) W¥kh

(C) ÃkrùBk (D) ËrûkÛk-ÃkrùBk
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092. Lkeåku Ãkife fE ÔkuLk ykf]ríkyku rMktn, ÔkkÎk yLku ÃkúkÛkeyku Bkkxu GkkuøGk Au ?

(A) (B) 

(C) (D) 

093. yuf Mkktfuríkf Çkk»kkBkkt ‘ENGLAND’ Lkku fkuz ‘GMIKCMF’ nkuGk íkku ‘AUSTRALIA’ Lkku fkuz õGkku n~ku  ?

(A) CTTSTZMHC (B) CTSTTZNHC

(C) CTUSTZNHC (D) CTUTSZNHC

094. yuf ÔGkÂõíkLkk BkkrMkf ÏkåkoLkku ÃkktåkBkku Çkkøk íkuLke BkkrMkf çkåkíkLkk 1/2 økÛkku Au. òu íkuLke BkkrMkf ykÔkf Yk. 63,000 nkuGk
íkku íkuLke BkkrMkf çkåkík fuxÕke n~ku ?

(A) Yk. 12,600 (B) Yk. 14,400

(C) Yk. 18,000 (D) ykBkktLkw yuf ÃkÛk Lknª

095. òu økÛk P = {3, 6} nkuGk íkku økÛk P Lkk ÎkkíkøkÛkBkkt fuxÕkk Îkxfku n~ku ?

(A) 2 (B) 4

(C) 6 (D) ykBkktLkw yuf ÃkÛk Lknª

096. yuf ÔGkÂõík 4 rfBke/fÕkkfLke ÍzÃku yuf åkkuhMk ÏkuíkhLkk rÔkfÛko Ãkh (diagonally) åkkÕkeLku 6 rBkrLkxBkkt ÃkMkkh fhu Au. íkku
íku åkkuhMk ÏkuíkhLkwt ûkuºkVék fuxÕkwt Úk~ku ?

(A) 40,000 åkku.Bke. (B) 80,000 åkku.Bke.

(C) 1 åkku. rfBke (D) ykBkktLkw yuf ÃkÛk Lknª

097. 0.00000676 Lkwt ÔkøkoBkqék fuxÕkwt Úk~ku ?

(A) 0.26 (B) 0.026

(C) 0.0026 (D) ykBkktLkw yuf ÃkÛk Lknª

098. MkBkefhÛk : x2 – 3x – 88 = 0 Lkk çku WfuÕk fGkk Au ?

(A) 11, –8 (B) –11, –8

(C) –11, 8 (D) 11, 8

099. yuf hfBk 9% MkkËkÔGkksu 5 Ôk»ko Bkkxu Bkqfíkkt Yk. 8,032.50 ÔGkks Bkéku Au. íkku íku hfBk fuxÕke n~ku ?

(A) Yk. 16,850 (B) Yk. 17,250

(C) Yk. 17,850 (D) ykBkktLkw yuf ÃkÛk Lknª

100. 52 Ãk¥kkBkktÚke yufMkkÚku 2 ÃkkLkk ÏkUåkÔkkBkkt ykÔku Au, íkku çkLLku ÃkkLkk yuõfk ykÔku íkuLke MktÇkkÔkLkk fuxÕke ?

(A) 1/216 (B) 1/121

(C) 2/221 (D) ykBkktLkw yuf ÃkÛk Lknª

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



AIW - MASTER ] 13 P.T.O.

101. The process of meiosis in flowering plants occur at the time of -
(A) Formation of spare mother cell (B) Formation of pollen grains
(C) Formation of plasmodesmata (D) Formation of spindles

102. Maximum biodiversity in Bharat is seen at -
(A) Eastern Himalayas and Andaman Nicobar
(B) Eastern Himalayas and Western Ghats
(C) Eastern and Southern Himalayas
(D) Gir Forests

103. Which of the following is essential for Nitrogen fixation in legumes -
(A) Chlorophyll (B) Triterpenes
(C) Anthocyanins (D) Leghaemoglobin

104. The disease die back of soots is caused due to the deficiency of -
(A) Copper (B) Molybdenum
(C) Magnesium (D) Calcium

105. Formation of embryo from gametophyte without the intervention of the gamete is known as -
(A) Pathogenesis (B) Apospory
(C) Apogamy (D) Apomixis

106. Moss spore on germination develop into -
(A) Protonema (B) Sporophyte
(C) Plumule (D) Chalaza

107. Who reported process of fertilization in angiosperms for the first time -
(A) E. Strasburger (B) P. Maheshwari
(C) C. Carlson (D) S. G. Watson

108. Name the syndrome caused by the trisomy of chromosome 21 in Homo Sapiens.
(A) Patau Syndrome (B) Klinefelter’s Syndrome
(C) Edward Syndrome (D) Down’s Syndrome

109. What will be the chromosome number at metaphase stage during mitotic cell division in Zea
mays -
(A) 10 (B) 20
(C) 30 (D) 40

110. From the plants, which product can not be obtained ?
(A) Vitamin 12 (B) Vitamin A
(C) Vitamin C (D) Vitamin K

111. Vinblastine, a drug used in cancer treatment in obtained from -
(A) Taxus baccata (B) Withamia somniferum
(C) Catharanthus roseus (D) Nigella sativa

112. Triticum durum belongs to -
(A) Poaceae family (B) Chenopodiaceae
(C) Ranunculaceae (D) Liliaceae

113. Lichens growing on rocks surface is an example of -
(A) Tolerance (B) Succession
(C) Adaptation (D) Facilitation
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114. When two species live in the same niche, the phenomenon is known as -
(A) Hyper niche (B) Niche width
(C) Niche overlap (D) Population overlapping

115. Which of the following is not recycled in an ecosystem -
(A) SO2 (B) CO
(C) NO2 (D) Energy

116. Sedimentation co-efficient of chloroplast ribosome -
(A) 80s – 85s (B) 60s – 78s
(C) 70s (D) 62s – 78s

117. Edible part in Cocos nucifera -
(A) Embryo (B) Mesocarp
(C) Epicarp (D) Endosperm

118. Which of the following make a species prone to extinctions -
(A) Trophic specialization (B) Cross pollination
(C) Atmospheric pollution (D) Secondary succession

119. Marker enzyme of Golgi apparatus is -
(A) Pyruvate Kinase (B) Acetyl – Co A synthetase
(C) Galactosyl transferase (D) Cytochrome oxidase

120. Vacuoles present in plant cell are analogous to -
(A) Golgi body (B) Spherosome
(C) Liposome (D) Lysosome

121. Colchicine -
(A) Prevents microtubules polymerization (B) Prevents microtubules depolymerization
(C) De-activate functions of centriole (D) De-activate sedimentation of ribosomes

122. IP3 initially causes Ca++ to be released into the cytoplasm from -
(A) Mitochondria (B) Lysosome
(C) Chloroplast (D) Endoplasmic reticulum

123. Crossing over at the time of meiosis I will cause -
(A) Independent assortment of genes (B) Complementation
(C) Duplication of genes (D) Recombination of linked genes

124. If an individual is heterozygous for both the characters in F1 and is crossed with double recessive
parent, what will be the phenotypic ratio in F2 generation ?
(A) 9 : 3 : 3 : 1 (B) 1 : 1 : 1 : 1
(C) 9 : 7 (D) 15 : 1

125. In a cross between a tetraploid female plant and a diploid male plant by mulberry, the endosperm
will be -
(A) Tetraploid (B) Pentaploid
(C) Hexaploid (D) Octoploid

126. Which one of the following metabolites moves from mitochondria to peroxisome during the
operation of the C2 oxidative photosynthetic cycle ?
(A) Serine (B) Glycerate
(C) Glycine (D) Glycolate
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127. E. Coli takes nearly 40 minutes to duplicate its genome following bidirectional mode of replication.
If it use uni-directional mode of replication to synthesize a full copy of DNA complementary to
just one of the strands of the genome, it will take -
(A) 20 min (B) 40 min
(C) 60 min (D) 80 min

128. Crown gall in plants is caused by -
(A) Aspergillus Niger (B) E. Coli
(C) Agrobacterium tumefaciens (D) Agrobacterium rhizogenes

129. Name the plant species from which artemisinin, an anti-malarial plant product is obtained -
(A) Withania somniferum (B) Artemisia annua
(C) Artemisia scoparia (D) Taxus bacata

130. Which microscope is used to visualize a protein fused to an appropriate reporter in a living cell ?
(A) Scanning electron microscope (B) Transmission electron microscope
(C) Pahse contrast microscope (D) Fluorescence microscope

131. Eubacteria and Archaebacteria are similar with respect to -
(A) Easter-linked fatty acids (B) 70s ribosomes
(C) Peptidoglycan cell wall (D) Gene expression

132. Inhibition of antigen presentation with NH4Cl in catabolism -
(A) 55 (B) 50
(C) 58 (D) 60

133. If two DNA molecules have the same base sequence -
(A) They will yield the same PCR products with identical primes
(B) They will yield different PCR products with identical primes
(C) No matter what may be the primer, PCR products will be same
(D) None of the above

134. Zygomycetes differ from the other fungi -
(A) they produce sexual spores (B) they have peptidoglycan in their cell wall
(C) they do not produce a sexual spores (D) they have coenocytic hyphae

135. Which of the following is not true about the anoxygenic photosynthesis ?
(A) Water is oxidized to produce electrons and oxygen is released during the process
(B) ATP is formed by cyclic photophosphorylation.
(C) Bacterio-chlorophyll is involved in the light reactions
(D) The process requires anaerobic conditions

136. A pairs with T and G pairs with C in DNA. Which of the following statement is not correct ?
(A) G is always equal to C
(B) A is always equal to T
(C) A + T = G + C
(D) It is possible to determine the sequence of the nucleotides in the complementary strand if the

sequence of one strand of DNA is known.
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137. What is the relationship between resolving power of a light microscope and wavelength ?
(A) Depends on the magnification of the eyepiece and objective lenses.
(B) Depends on the light source used for illumination.
(C) Longer the wavelength, higher is the resolving power.
(D) Shorter the wavelength, higher is the resolving power.

138. Fungi in which no sexual stage is found -
(A) Basidiomycetes (B) Ascomycetes
(C) Zygomycetes (D) Deuteromycetes

139. Direct gene transfer in plants is possible by the following techniques -
(A) Microinjection (B) Electroporation
(C) Particle gun method (D) All of the above

140. During the process of translation, the codons are read in -
(A) 3' – 5' direction (B) 5' – 3' direction
(C) Randomly manner (D) depends on the type of protein

141. Term “Superbug” is coined for organisms which are engineered for -
(A) Antibiotic production (B) Enzymes production
(C) Hydrocarbon degradation (D) Alkaloid production

142. Synapsis occurs during -
(A) Leptotene (B) Pachytene
(C) Diplotene (D) Zygotene

143. Lichens leads life -
(A) Autotrophic (B) Parasitic
(C) Symbiotic (D) Parasitic and Autotrophic

144. The smallest plant, Wolffian belongs to -
(A) Thallophytes (B) Bryophytes
(C) Gymnosperm (D) Angiosperm

145. “POMATO” is an example of -
(A) Sexual hybridization (B) Somatic hybridization
(C) Cybridization (D) Transfer of male sterility genes

146. Rust disease in Triticum aestivum is caused by -
(A) Phytophthora infestans (B) Fusarium solani
(C) Puccinia graminis (D) Alternaria solani

147. Nullisomiy is represented -
(A) 2n + 1 + 1 (B) 2n – 1 – 1
(C) 2n – 2 (D) 2n + 2

148. Nobel prize for gene silencing was awarded to -
(A) J. D. Watson (B) H. G. Khorana
(C) A. Z. Fire and C. C. Mello (D) B. J. Marshall and G. M. Cooper

149. Organ theory of differentiation in vitro was postulated by -
(A) Skoog and Miller (B) Guha and Maheshwari
(C) Devey and Cocking (D) Murashige and Skoog
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150. The electron of photosystem I are -
(A) eventually replaced by electrons from photosystem II
(B) attach to water molecules during the light reactions
(C) produce molecules of O2 that enter the atmosphere
(D) absorbed by O2 molecules to from water

151. Genome wise gene expression analysis is performed by using -
(A) DNA microarrays (B) Northern Analysis
(C) Western Analysis (D) RT PCR

152. Chemically viruses are -
(A) Glycoproteins (B) Phospholipids
(C) Glycerides (D) Nucleoproteins

153. During organic evolution, the organism first appeared on earth -
(A) Algae (B) Fungi
(C) Mycoplasma (D) Photosynthetic bacteria

154. Alternaria solani causes -
(A) Late blight of potato (B) Early blight of potato
(C) Leaf curl of potato (D) Wart of potato

155. Among water from different sources, minimum BOD is exhibited by -
(A) Ganga water (B) Yamuna water
(C) Narmada water (D) Distilled water

156. The energy flow in an ecosystem is -
(A) Cyclic (B) Unidirectional
(C) Multidirectional (D) Sometime cyclic, other time multidirectional

157. UV-B radiation lies in the region of -
(A) 220 – 320 nm (B) 220 – 300 nm
(C) 280 – 320 nm (D) 320 – 400 nm

158. Signal transduction for closure of stomata under water stress is mediated by -
(A) Abscissic acid (B) Salicylic acid
(C) Acetic Acid (D) Gibberellic acid

159. Protons are moved into the thylakoid using energy from -
(A) ATP (B) NADPH
(C) NADP (D) Electrons in the transport chain

160. In a city, household survey of 10 families was conducted by students of M.Sc. Botany. In the
collected data, the ages of heads of the families were : 32, 34, 35, 36, 42, 44, 46, 48 and 52. The
mean age of heads of the families is -
(A) 36 (B) 38.5
(C) 40 (D) 40.5

161. Gregor J. Mendal performed his famous experiments on -
(A) Onion (B) Wheat
(C) Soybean (D) Sweat Pea
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162. International Plant Genetic Resources Institute (IPGRI) is located in _______.
(A) Italy (B) U.S.A.
(C) Peru (D) England

163. The process of protecting an endangered species of plants in natural habitat is termed as -
(A) On-situ conservation (B) In-situ conservation
(C) Ex-situ conservation (D) In vitro conservation

164. One widely used measure of diversity that combine species richness with equitability is the -
(A) Odum’s Species Index (B) Shannon-Wiener Index
(C) Simpson Index (D) Bio-index

165. Which of the following ions play a vital role in stomatal physiology ?
(A) H+ (B) K+

(C) Na+ (D) MG++

166. In plants, IAA causes cell elongation due to -
(A) Increase in pH of apoplast (B) Increase in pH of cytoplasm
(C) Decrease in pH of apoplast (D) Decrease in pH of cytoplasm

167. The evolutionary divergence of higher taxonomic groups is due to -
(A) Cladogenesis (B) Anagenesis
(C) Stasigenesis (D) Competence

168. Which element is present in Diatoms -
(A) Si (B) Ca++

(C) Mg++ (D) None of the above
169. Sulphur containing amino acid is -

(A) Asparagine (B) Methionine
(C) Leucine (D) Valine

170. A couple is already having two sons. The probability of third child as a daughter is -
(A) Zero (B) 50%
(C) 75% (D) 100%

171. A data representing height of all citizens of Surat city represents -
(A) Normal distribution (B) Binomial distribution
(C) Poisson distribution (D) None of the above

172. An experiment was conducted to test 9:3:3:1 ratio of Mendelian dihybrid cross. While analyzing
the result of Chi-square test, the degree of freedom will be -
(A) 1 (B) 2
(C) 3 (D) 4

173. The nucleosome core consists of an octamer of two molecules of each -
(A) H1, H2A, H2B, H4 Histones (B) H1, H2A, H2B, H3 Histones
(C) H2A, H2B, H3 and H4 Histones (D) H1, H2A, H3 and H4 Histones

174. P-value defines -
(A) Probability of the acceptance of the null hypothesis
(B) Probability of the rejection of the null hypothesis
(C) Probability of the acceptance of the alternative hypothesis
(D) Probability of the rejection of the alternative hypothesis
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175. Due to epistasis in mice, when F1 is salted, the F2 generation give rise to -
(A) 9 : 3 : 3 : 1 ratio (B) 9 : 3 : 4 ratio
(C) 15 : 1 ratio (D) 1 : 1 ratio

176. In Ophioglossum stele is -
(A) Ectophloic siphonostele (B) Protostele
(C) Ectophloic solenostele (D) Amphiphloic siphonostele

177. Development of cortical, medullary and dwarf bundle in steam are example of -
(A) Primary anomalies (B) Secondary anomalies
(C) Both, Primary & Secondary anomalies (D) None of the above

178. Post fertilization changes includes -
(A) Development of seeds (B) Development of pericarp
(C) Development of seed coat (D) All of the above

179. From the following, which is not a synthetic auxin -
(A) Indole 3 acetic acid (B) 2, 4 – dichlorophenoxy acetic acid
(C) 2, 4, 5 – trichlorophenoxy acetic acid (D) 2 - Methyle - 4 chlorophenoxy acetic acid

180. In which of the following plants, pollen grains remain inside the pollinia -
(A) Polygonum (B) Brassica
(C) Allium (D) Calotropis

181. Elaters are -
(A) Haploid (B) Diploid
(C) Triploid (D) Hexaploid

182. Into how many families Bentham & Hooker divided plants in their classification ?
(A) 102 (B) 202
(C) 302 (D) 402

183. Who described the fossil Homorylon discovered from Rajmahal hills ?
(A) Chamberlain (B) Birbal Sahani
(C) S. R. Kashyap (D) V. Puri

184. Anthocyanin produced by plants is a -
(A) Primary metabolites (B) Secondary metabolites
(C) Tertiary metabolites (D) None of the above

185. Birbal Sahni Palaeobotanical Research Institute is located -
(A) Kolkata (B) Mumbai
(C) Varanasi (D) Lucknow

186. Who is known as father of Embryology in India and also awarded F.R.S. ?
(A) S. C. Maheshwari (B) P. Maheshwari
(C) D. K. Maheshwari (D) M. S. Swaminathan

187. Quiescent centre is located of the tip of -
(A) Stem (B) Root
(C) Leaf (D) Internode

188. Aquatic and free floating ferns are
(A) Marsilea and Selaginella (B) Salvinia and Azolla
(C) Lycopodium and Nigella (D) Lilium and Marsilea
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189. Agar-agar, used in plant tissue culture research is obtained from -
(A) Green algae (B) Blue-green algae
(C) Red algae (D) Brown algae

190. The pigment phytochrome is converted from Pr to Pfr form by absorbing -
(A) Red light (B) Far Red light
(C) Infra Red light (D) Ultraviolet light

191. In plants double fertilization was discovered by -
(A) S. G. Nawaschin (B) S. R. Kashyap
(C) P. N. Mehra (D) Birbal Sahani

192. Which of the following is essential for Nitrogen fixation by leguminous plants -
(A) Chlorophyll (B) Leghaemoglobin
(C) Phycocyanin (D) Triterpenes

193. Transgenic crop that has been permitted to grow in India by Govt. of India in the fields -
(A) Bt-Soybean (B) Bt-Brassica
(C) Bt-Cotton (D) Bt-Brinjal

194. The first patent on “Life Forms” was obtained by -
(A) M. S. Swaminathan (B) G. M. Cooper
(C) Monsanto (D) Anand Chakraborty

195. Select a cellular body which is NOT a plant of nuclear material.
(A) Nucleolus (B) P-Bodies
(C) Satellite DNA (D) Chromatin

196. Which one of the following statement regarding chromatin is false ?
(A) DNA wind, approx. 1.65 times around nucleosomes.
(B) H2A – H2B bind to both the entry and exit ends of DNA in nucleosomes.
(C) Covalent modification of histones affect chromatin compactness.
(D) Non-histone proteins are integral part of chromosomes.

197. Which of the following is a P-type ion transporter ?
(A) Mg++ and FE++ (B) MG++ and Cl–

(C) Na+ – K+, Ca++ and H+ (D) Mg++ and Fe+++

198. Cells maintain high concentration of protons inside the lysosome because of -
(A) Antiporter in the lysosomal membrane.
(B) Facilitated diffusion proton channel in the lysosomal membrane.
(C) Facilitated diffusion proton uniporter in the lysosomal membrane.
(D) ATP-powered proton pump in the lysosomal membrane.

199. Which one of the following peptides can coexist in both cis – and trans conformation ?
(A) Pro – Gly – Co NH2 (B) Gly – Pro – Co NH2

(C) Ala – Ala  – Co NH2 (D) Val – Pro  – Co NH2

200. In a sample from a population in a forest area, there were 65 individuals with BB genotype, 30
individuals with Bb genotype and 15 individuals with bb genotype. The frequency of the ‘b’
allele will be -
(A) 0.27 (B) 0.41
(C) 0.59 (D) 0.74
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201. Translocation of substances inside a cell and over short distances in the symplast is due to the
process of -
(A) Osmosis (B) Imbibition
(C) Diffusion (D) Plasmolysis

202. GM food which are used to prevent the night blindness in developing country is _______
(A) Tomato (B) Starlink corn
(C) BT soyabean (D) Golden rice

203. Which one of the following is not a rich dye yealding  plant ?
(A) Henna (B) Hibiscus
(C) Indigofera (D) Butea

204. Which one of the following is a scientific name of Kewra?
(A) Dolichos lablab (B) Pancratium sp
(C) Pandanus tectorius (D) Passiflora foetida

205. The finches of Galapagos islands provide on evidence in favour of -
(A) Evolution due to mutation (B) Retrogressive evolution
(C) Biogeographical evolution (D) Special creation

206. Pyramid of energy in a river ecosystem is -
(A) Always upright (B) Upside down
(C) Constant (D) Declining

207. RELP and PGR is _______
(A) for study of enzyme (B) genetic transformation
(C) sequencing of DNA (D) fingerprint of genetic

208. Ultraviolet radiations from sunlight causes a reaction that produces _______
(A) Fluorides (B) Carbon monoxide
(C) Sulphur dioxide (D) Ozone

209. Formation of gametophyte directly from spore mother cell without meiosis is called -
(A) Apospory (B) Apogamy
(C) Apomictic (D) Apomixis

210. Gametophytic generation is dominant in -
(A) Pteris (B) Riccia
(C) Rose (D) Pinus

211. Premature leaf fall is due to deficiency of _______
(A) Calcium (B) Iron
(C) Nitrogen (D) Phosphorus

212. In which organelle, the DNA is present ?
X – Nucleus
Y – Mitochondria
Z – Chloroplast
(A) X only (B) X and Y
(C) X and Z (D) X, Y and Z
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213. A fungus contains cells with two nuclei from different genomes. The nuclei do not fuse but divide
independently and simultaneously as new cell are formed. It belongs to -
(A) Zygomycetes (B) Deuteromycetes
(C) Phycomycetes (D) Basidiomycetes

214. Which one of the following is a parasitic algae ?
(A) Polysiphonia (B) Volvox
(C) Batrachospermum (D) Cephaleuros

215. What is mitoplast ?
(A) Mitochondria without inner membrane
(B) Mitochondria without outer membrane
(C) Another name of mitochondria
(D) Another name of chloroplast

216. Which enzyme can digest plant protein ?
(A) Pepsin (B) Renin
(C) Erepsin (D) Kinase

217. The ‘Pollen drop’ in gymnosperms refers to -
(A) Water drop (B) Nucellar secretion
(C) Pollen dropped by wind (D) Male gametic secretion

218. Which of the following are characters of Thalamiflorae according to Bentham and Hooker’s
system of classification ?
O – Flowers hypogynous
P – Stamens disc adnate
Q – Sepals usually distinct and separate
R – Sepals free from ovary
(A) P, Q and R (B) O, P and Q
(C) O, Q and R (D) O and R

219. Which of the following is incorrect about the characteristics of protobionts (coacervates and
microspheres) as envisaged in the abiogenic origin of life ?
(A) They were partially isolated from the surroundings.
(B) They could maintain an internal environment.
(C) They were able to reproduce
(D) They could separate combinations of molecules from the surroundings.

220. Who gave chromosomal theory of heredity ?
(A) Sutton and Boveri (B) Baltzar
(C) de Vries, Correns and Tschemark (D) Morgan

221. Gel electrophoresis is used for -
(A) Cutting of DNA into fragments.
(B) Separation of DNA fragments according to their size.
(C) Construction of recombinant DNA by joining with cloning vectors.
(D) Isolation of DNA molecule.
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222. Enzyme that is used in PCR technology is _______
(A) Taq polymerase (B) Polymerase
(C) Helicase (D) Isomerase

223. Which of the following is included in biopesticides ?
(A) Viruses and bacteria only
(B) Viruses, bacteria and fungi only
(C) Virus, bacteria, fungi, protozoa and mites
(D) Viruses, bacteria, fungi and protozoa only

224. Which one amongst the following is not a fire wood species.
(A) Acacia nilotica (B) Zizyphus jujuba
(C) Holoptelea integrifolia (D) Tectona grandis

225. In one population
Frequency of X gene = m = 80%
Frequency of Y gene = n = 20%
What will be
Frequency of XY = _______ % and
Frequency of XX = _______ %.
(A) 4%,  32% (B) 64%,  32%
(C) 4%,  64% (D) 32%,  64%

226. Which of the following is provided to plant by fungi present in Mycorrhiza ?
(A) Carbonate (B) Phosphate
(C) Nitrate (D) Chloride

227. During transcription DNA polymerase, holoenzyme binds to gene promoter, and seems to be a
chair like structure. Which is that sequence of DNA ?
(A) AATT (B) CACC
(C) TATA (D) TTAA

228. Nutrient enrichment of water bodies causes -
(A) Stratification (B) Eutrophication
(C) Succession (D) Biomagnification

229. Choose the wrong pair.
(A) Hepaticopsida - Marchantia (B) Lycopsida - Selaginella
(C) Bryopsida – Anthoceros (D) Pterosida - Dryoptris

230. Which one is the most efficient convertor of sunlight ?
(A) Rice (B) Sugarcane
(C) Papaya (D) Wheat

231. For the formation of 32 sperm cells how many cells undergo mitotic division ?
(A) 4 (B) 16
(C) 8 (D) 32
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232. Select the correct match from given plants.
O. Pheophyceae - Mannitol
P. Rhotophyceae - Dictyota
Q. Chlorophyceae - Non-motile gametes
R. Rudophyceae - r-phycoerythrin
(A) O, P, Q and R (B) O and R
(C) P, Q and R (D) O, Q and R

233. Iodine is obtained from -
(A) Blue green algae (B) Brown algae
(C) Green algae (D) Red algae

234. Trabaculae is the transformation of -
(A) Xylem (B) Phloem
(C) Endodermis (D) Pericycle

235. Chlorosis can be caused due to deficiency of following -
(A) Mg, S, N, K (B) Mn, Fe, N, Zn
(C) Mg, S, N, Fe (D) P, S, Fe, N

236. Fertilization in gymnosperm is -
(A) Mesogamy (B) Chalazogamy
(C) Porogamy (D) Meso-chalazogamy

237. The main categories to which a particular plant belongs in descending order are -
(A) Division – Class – Tribe – Order – Family
(B) Division – Class – Order – Family - Tribe
(C) Division – Order – Class – Family – Tribe
(D) Division – Order – Family – Class – Tribe

238. The number of individuals of a species in a particular ecosystem at a given time remains constant
due to -
(A) Parasites (B) Human beings
(C) Predators (D) Food availability

239. During chain elongation, peptide bond is formed between carboxyl group of first and amino
group of second amino acid by -
(A) Peptidyl transferase (B) DNA ligase
(C) Taq polymerase (D) Helicase

240. Bacillus thuringiensis forms proteins crystals which contain insectisidal protein -
(A) binds with epithelial cells of midgut of the insect pest ultimately killing it.
(B) is coded by several genes including gene cry.
(C) is activated by acidic pH of the fergut of the insect pest.
(D) Does not kill the insect because it itself is resistant to this toxin.

241. DNA polymerase enzyme is isolated from which bacteria ?
(A) Thermus aquatics (B) E. Coli
(C) Agro bacterium (D) Bacillus thuringiensis
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242. In nitrogen cycle nitrite is converted to nitrate by
(A) Azatobacter (B) Rhizobium
(C) Nitrobacter (D) Nitrosomonas

243. Causal organism for the ‘wart disease of potato’
(A) phytophthora infestans (B) Sclerospora graminicola
(C) Synchytrium endobioticum (D) Ustilago tritici

244. Animals have the innate ability to escape from predation. Examples for the same are given
below. Select the incorrect example.
(A) Colour change in Chameleon
(B) Enlargement of body size by swallowing air in puffer fish
(C) Poison fangs in snakes
(D) Melanism in moths

245. Which of the following is the most stable ecosystem ?
(A) Forest (B) Desert
(C) Mountain (D) Ocean

246. The crossing of an organism with a homozygous recessive in order to determine whether if is
homozygous or heterozygous for a character under consideration is known as _______.
(A) Back cross (B) Test cross
(C) Reciprocal cross (D) Dihybrid cross

247. Nitrogen oxides formed during emission from automobiles and power plants are source of fine
air particles which lead to -
(A) Dry acid deposition (B) Photochemical smog
(C) Wet acid deposition (D) Industrial smog

248. Clubmoss belongs to -
(A) Algae (B) Fungi
(C) Pteridophyta (D) Bryophyta

249. A bryophyte which harbours a nitrogen fixing blue green algae in its thallus is _______.
(A) Riccia (B) Marchantia
(C) Pogonatum (D) Anthoceros

250. 4.1 Kcal. And 9.3 Kcal. per gram is available energy from _______ and _______ respectively.
(A) Glucose and Protein (B) Protein and Fat
(C) Hormone and Glucose (D) Glucose and Fat

251. During which subphase, crossing over is seen ?
(A) Leptotene (B) Zygotene
(C) Pachytene (D) Dikinesis

252. Which is correct ?
(A) Perithecium is fruiting body (B) In Agaricus gills produce basidia
(C) Toadstool is an edible fungi (D) Rust fungi are homoecious

253. Isomorphic alternation of generations is found in
(A) Oedogonium (B) Ectocarpus
(C) Vaucheria (D) Chara
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254. In old dicot stems, a major part of the wood is filled up with tannins, resins, gums etc. This part
of wood is called _______
(A) Sap wood (B) Soft wood
(C) Hard wood (D) Heart wood

255. Identify the following structure and choose the correct option for it.

(A) IAA (B) IPA
(C) IBA (D) NAA

256. The time gap between pollination and fertilization in Cycas is approximately
(A) 1 Month (B) 2 – 3 Months
(C) 4 – 5 Months (D) 6 – 12 Months

257. When leaves bear flower or inflorescence in their exil, they are called
(A) Floral leaves (B) Scale leaves
(C) Bract leaves (D) Cotyledonary leaves

258. The free floating organisms of an open sea and sea shore are collectively called _______.
(A) Nektons (B) Benthonic
(C) Planktons (D) Sea anemones

259. Length of one loop of B-DNA is -
(A) 3.4 nm (B) 0.34 nm
(C) 20 nm (D) 340 nm

260. DNA or RNA segment tagged with a radioactive molecule is called _______.
(A) Vector (B) Probe
(C) Clone (D) Plasmid

261. Which of the following statement is suitable for tetR gene ?
(A) It has Pst-I recognition site (B) It has Bam-III and Sal-I recognition site
(C) It has tet III recognition site (D) It has Pst-III recognition site

262. Common name of utricularia is
(A) Venus fly trap (B) Bladderwort
(C) Butterwort (D) Sundew plant

263. Ustilago hordei is responsible for the development of the disease
(A) Covered smut of Barley (B) Loose smut of wheat
(C) Red rot of sugarcane (D) Tikka disease of Groundnut

264. According to Darvin, the organic evolution is due to
(A) Predation (B) Drought
(C) Rain fall (D) Intraspecific competition

265. A rat feeding upon potato tuber is
(A) Producer (B) Carnivore
(C) Decomposer (D) Primary consumer
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266. One gene one enzyme hypothesis was given by _______
(A) Hershey and Chase (B) A. Garrod
(C) Beadle and Tatum (D) R. Franklin

267. Minamata disease is due to the pollution of _______
(A) Organic waste into drinking water
(B) Oil spill in water
(C) Industrial waste mercury into fishing water
(D) Arsenic into atmosphere

268. First vascular plant is
(A) Thallophyta (B) Bryophyta
(C) Pteridophyta (D) Spermatophyta

269. Saprophytic bryophyte is _______
(A) Redula Sp. (B) Buxbaumia aphylla
(C) Ricciocarpus natans (D) Riccia fluitans

270. How many Oxygen molecules are used in glycolysis of two molecules of glucose ?
(A) 1 (B) 2
(C) 0 (D) 4

271. During which pase, synthesis of histon proteins occur in eukaryotic cells ?
(A) During prophase (B) During telophase
(C) During S1 phase (D) During G2 phase

272. Red rot of sugarcane and white rust of radish are respectively caused by
(A) Colletotrichum and Fusarium (B) Albugo candida and Puccinia graminis
(C) Phytopthora and Pythium (D) Colletotrichum and Albugo candida

273. Meiotic division in zygote takes place in most of _______
(A) Thallophyta (B) Gymnosperms
(C) Pteridophyta (D) Angiosperms

274. Eustele is present in _______
(A) Algae (B) Dicots
(C) Bryophytes (D) Pteridophytes

275. Match the following with correct combination.
Column I Column II
O.  Cascuta 1. Saprophyte
P.  Eichornia 2. Pneumatophore
Q.  Monotropa 3. Insectivorous plant
R.  Thizophora 4. Parasite
S.  Utricularia 5. Root Pocket

(A) O - 4, P - 5, Q - 1, R - 2, S - 3 (B) O - 1, P - 4, Q - 5, R - 3, S - 2
(C) O - 1, P - 5, Q - 4, R - 2, S - 3 (D) O - 3, P - 5, Q - 1, R - 4, S - 2

276. Which of the following structures in Pinus are haploid ?
(A) Megaspore, integument, root (B) Endosperm, Megaspore, gamete
(C) Pollen grain, Leaf, Root (D) Megaspore, Endosperm, Embryo
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277. Family Tiliaceae is classified under the series _______
(A) Thalami florae (B) Disci florae
(C) Calysi florae (D) Inferae

278. In a food web, each successive trophic level has _______
(A) Increased total energy (B) Less total energy content
(C) More total energy content (D) Non-estimated energy content

279. Which plant keeps its stomata open during night and closed during day ?
(A) Cactus (B) Hibiscus
(C) Ivy (D) Water lily

280. Normal borlo related with  _______
(A) White revolution (B) Green revolution
(C) Yellow revolution (D) Blue revolution

281. Biolistics (Gene-gun) is suitable for
(A) Disarming pathogen vectors
(B) Transformation of plant cells
(C) Constructing recombinant DNA by joining with vectors
(D) DNA finger printing

282. ‘Molecular Scissors’ used in genetic engineering is :
(A) DNA polymerase (B) DNA ligase
(C) Restriction endonuclease (D) Helicase

283. Which one of the following is not a timber yealding plant ?
(A) Madhuca indica (B) Dalbergia sissoo
(C) Gmelina arborea (D) Lawsonia inermis

284. Which of the following disease is caused by bacteria ?
(A) Early blight of potato (B) Citrus canker
(C) Rust of Linseed (D) Black rust of wheat

285. The tendency of population to remain in genetic equilibrium may be disturbed by ?
(A) Lack of migration (B) Lack of mutation
(C) Lack of random mating (D) Random mating

286. Total energy fixed by an ecosystem is the _______
(A) Primary production (B) Secondary production
(C) Gross production (D) Net production

287. The E-coli cells, having ‘2’ gene in lac operon do not grow on medium containing lactose as sole
source of energy because _______
(A) in these cells, lac operon is active
(B) they cannot synthesis active, -galactosidase
(C) E-coli cell do not utilize lactose in presence of glucose
(D) they cannot transfer lactose from medium into the cells

288. Acid rain is caused by
I.  Sulphur dioxide       II.  Hydrogen chloride III. Nitrogen oxide       IV.  Phosphates
(A) I, II and III (B) I and II
(C) II and IV (D) I and III
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289. Physiological heterospory is seen in
(A) Chlamydomonas (B) Rhizopus
(C) Selaginella (D) Hycopodium

290. Eleters are present in the sporangium of
(A) Marchantia (B) Riccia
(C) Sphagnum (D) Selaginella

291. Carbon dioxide acceptor in C3 plant is
(A) PEP (B) RuBP
(C) PGA (D) RuBiSco

292. By which substance spindle fibres are formed ?
(A) Actin (B) Myosine
(C) Actomyosine (D) Myoglobin

293. Which of the following divisions of fungi includes ‘Club fungi’
(A) Ascomyceta (B) Deuteromyceta
(C) Basidiomycota (D) Zygomycota

294. Phytoalexins are secreted by plants in response to fungal reaction. These compounds are generally
(A) Proteins (B) Lipids
(C) Glycoproteins (D) Phenolic compounds

295. Non motile, greatly thickened a sexual spore in Chlamydomonas is known as
(A) Akinate (B) Zoospore
(C) Endospore (D) Hypnospore

296. Tunica corpus theory is related with
(A) Root Apex (B) Lateral meristems
(C) Root cap (D) Shoot apex

297. Enzymes as they exist inside the cell are _______
(A) In colloidal form (B) In crystalline form
(C) In solid from (D) In solution form

298. If the haploid number of chromosomes in gymnosperms is 12, what will be the number of
chromosomes in its roots and endosperm.
(A) 12, 12 (B) 24, 12
(C) 12, 24 (D) 12, 6

299. Bessey classified Anthophyta in to following classes
(A) Monocotyledonae and Dicotyledonae (B) Strobiloideae and Cotyloideae
(C) Apopetalae and Sympetalae (D) Alternifoliae and Oppositifoliae

300. Select the correct statement from the ones given below with respect to dihybrid cross.
(A) Tightly linked genes on the same chromosomes show higher recombinations.
(B) Genes for apart on the same chromosomes show few recombinations.
(C) Genes loosely linked on the same chromosomes show similar recombinations.
(D) Tightly linked genes on the same chromosomes show very few recombinations.
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